O W W DN DN DN DN DN DN DN DN DN DN e e e e e e e e e
DN —m O W 0 3 O O k= W N = O O 0 3 O O = W DN — o

REEY
i
CE G FOFAT

e B R

CEA RERGIEPERL ST LI

BHE TR LT 0T A i

K

g T

Ny

F 8 4

R

FER (A REE)

LB Y SR

BT E

B

PR & SRS EER
JRFRFL

P A SR

JJRFEA R BB L R ¥ hrak
CERAES 5 (ArdmdT s B )

EEEES

il
g T (AoRTlE @t

et

&

*)

T R

AEEE R R 1p 5]/’?*{ —————————————

Y @
= SN TR
- N -

kA
oAl

FARE 0 KB T

I R SRR B3t 7™ 0 E -

SRS S ER E I S G

S S T S SN I
LS A A
A &

oooooood
Ooooboogd
ODoooboodod
ODoooboogd
ODooboogod
oooooood
ODoooboodod
ODoooboogod
oooooood
ODoobooboood
oooooood
ODooboboood
oooooood
oooooood
Oooobooogd
oooooood
ODoobooood
oooooood
ODoooboood
ODooboood
ODoobobooodod
oooooood
ODooboogd
ODoobooboood
ODobobooogd
ODooboogd
ODooboood
ODoooboogd
ODoooboood
ODoooboood
ODoobobooood
ODobobooodod

BRETS R

B A f e



33.F T B Ak S SR JO0ododood
34.F K F ORI (drscdbi ~ JRAE S ) e OO0O0ooOoOgno
3.4 5 S B AP T Rt OO0ooOoood
36. 7 * 2% + FE |+ OO0O0ooOoOono
v Hhep Hhih (WwBqERF ) ————- OO0O0ooOoOono
38.F F 2 A (dold v BN ) OO0O0ooOoono
39.F 0 RN H OO0O0ooOoOdgno
40. ¥ £ E > 2 QY OO0ooOodgod
A1, P ELE R~ PR OO0ooOoood
2.7tz (WHFiFHFe BE) - OO0O0ooOoOgno
3. F &h b efhm b & (/g p ) - OOoooooodg
o~ B R TG

L Eds g7 dqr > TxERgd kg2 ¢ 7 ¢
2. BB T AR FEE R BB AR S22 (10 5%A)

TR R § Tl RS 8 T
1. (& e w] &t
7 O+
2. [ ehE A
(15 &z ™ [J16—25 % []26—35 %  [136—45 & [146—55 f
[156 ez vt
3. ek T LR
me 2= [ () & x5 [mdzrnl
4, 5& 0 R Bei T~
(120,000 ~»=*  []20,000—40,000 =~z  []40,000—60, 000 =~
(160, 000—80, 000 =~~~ []80,000—100,000 ~r+= []100,000 =~ % s+



